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Even by a Rishon or Shaynee it is also a Techiloh

OVERVIEW

X217 asked if ¥"7 maintains that 7pwn can be &nun others only 712771, why mention
that the W was burnt with an X207 2R, even if it was burnt with a NWRX? or *1w,
the 72w will become a PWXM and can be Xnavn others ]J:ﬂ'm.l The inference is that
1w 1s considered a 7pwn. Our NMBOIN discusses this issue.

- 311917 11192 191 *RYNA0N 1% NPYN 533 (v, 91 NP ZNPYN 2IUN YT ¥IYN NI
It seems from here that oil is considered a liquid, and it also appears that way

later regarding X> m2aun no2 apw», and similarly in many places it is apparent that
1AW is considered a pwn.

Mmoo anticipates a difficulty:
- vaTn s‘]N DYIIN ©999M *aYIYy "N 1Y IMIIN PN 229 (2 mawn 7x prs mrnv) PNT NI

And this which we learnt in a mwn; »''1 says 2w is always a 77910, and the

2 o1 say honey is also always a 79nn -
= ND 790 DAN 12 XPNT ¥IID 1991 90IN Y )PIYNY a9

And 9w w''1 says, wine is always a 77710, The explanation given in the X2 is

that only wine is 2775% 7210 but not these others (oil and honey) -
= 959 RNITNT (x,x9 mran) N \DIPNA 1PPOY

And in 77239 y2p17 P00 we rule that the law is like »11mw w"-. This seems to indicate that
1MW is not considered a npwn (it is not 227 79nn), which contradicts what we assume here.

mooIn responds:
= NN9DINA ¥NVNTI NINY T2 NN YIPIL 2990 ONNT 0N 13229 99N

" The rule is 707 nR 5017 5 (like a *3w1 PwX) is 7200 na» apwn xnun. The apwn which touches it becomes a
TR,
% %21 states that it will become a (pwr) 790N (even) if it touches a >3 WX, This rule is only by mpwn.
? X»nawn n°a fpwn means the liquids (blood and water) which were in the slaughtering area, as opposed to n°a ipwn
X127 which is the liquid (wine and oil) in the n2m area. 27 (there) understood that the 0»31 were 1vn only the
X1awn N2 Ppwn (the blood and water) that the 11277 XMWY should not apply to them, however by the n»a Ppwn
X»1277 (the oil and wine) all the 13277 M1 apply to them, including the 7713 that (WTPR NRY) 72107 DR 0197 25
7210 DPAR PRwn Rnvn.
If 7w came in contact with a Xm0, which can be Xnvn, the 7w will always be a WX (and make a *1), on account
of the rule %m0 nwrah Ppwn Xnvn "1 010 93, See later (footnote # 13) in this mwown for a (slightly) different
explanation of 22Ww? 77nn.
> The viscosity (its ability to flow freely) of waT is less than 1w, nevertheless it is considered to be a pwn.
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The n''1 says that the miwn there in M7nv 'on is discussing a case where the

liquid congealed and afterward it liquefied, as is indicated in the xnpon -
- M3 79 9PN WAPIa TaIwh 79NN 1Y 190N 1na ‘onn mNpT

For it says there in the Xno01n, ‘when do the say that 29p% m%nn 32w; (even) by

v and later it was mn’ -
- (vmvm) NV NIDNT /) P9 YWII2 ¥1RUN 199 1) XYY X9I9T ¥HWUMR WD XY

However if it was never wap1 it seems that all agree (even 1w w'"9) that 1w is a

7Pwn. And it also seems so in the beginning of the third 92 in ny97w noon -
- 1503 19 %90 °NDI0 NHWM 1AV 1YY 2N 1PN 201N NN NPT

For the mwn» there (X 71wn) states, ‘the soup, the cereal, the milk or the oil;

when they are no pwn they become a 57910 by touching axm1v, however if -
- 09 17 5910 TN 9 NN IWIP

They congealed and afterwards they liquefied, they are (merely) 2w -
- Byyap 950N 0999 139501 ©9IY A9NN 1PYN TN NN 39 NP 190 9na)

And after this (aforementioned 71wn) the next (2) miwn teaches; ‘»''9 says 2w is
always a 17°nn’; and this is the meaning of ‘always’, 11 is a 7710 even if wp -

:w9P) N9 19h ynwn Ko SIY PYNY 39 IND NAN)
And on this statement of n"1 is the response of 11w w''9, that WPIw 12¥ is not a
onn, but rather only w1p1w 1°. And here by 01’ 91202 001w 12w, the X3 assumes
that the 720 was never wp1, therefore it is a 7710,

SUMMARY

% 3" 2" n7w XNdOWN. The text there varies somewhat from Mmoo rendition here.
7 Seemingly this is referring to the views of 25m »'" cited previously.
¥ Seemingly this would mean that if the J2w became Xnv as a liquid and then it was 31 919291 wAp3, so according to
n"1 it is still a 72nn, however according to 1w w" it lost its &MY (status of a W) if w1p1 . However, if it became
Xny after it was mn1 710271 WP, all would seemingly agree that it is a Ipwn (see 77w *mn). See however, ‘Thinking
it over’.
? The case here regarding the 0¥ 21202 XnuIw 1w is where it was never wApa.
' This means that they are sufficiently wet that if something touches them, that item will become sufficiently wet
that whatever it touches will also be wet. This is known as 7°507% nan 2y now.
"' The am. etc. touched mxnw while wet, making it a WR7, then when it was WwAp, it became "7 which touched
NwRI 7pwn (it touched itself), so it becomes a "1w. And even though it was 1711 it retains its 1@ status.
"2 This is the 73wn which was cited previously in maoin.
5 1t will remain a WX even after it was w1 as long as now it is fn1. Otherwise if it is still wAp1itis a “1w.
“If it was wap1 (and therefore it is not considered npwn [according to >mw w"1]) and it is merely a *w5w, why
mention that it was Xnvl by a 01 72y, it will have the same status (of *w°5w) if it was Xnv1 by a ‘regular’ "1w.
However, if we assume that it was not w9p3, the novelty is that it is (only) a *w’%w even though it is 7pwn, since the
rule is that 2 21207 I 7710 DAY PRWA Rabn anIIna IR Y0107 93, See 01 WRA.
15 See footnote # 17.
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1MW (which was never w1p3) is considered a 3pwn, unless it was MmN 910291 WP

THINKING IT OVER

If we assume that when the 1w was wp1w InRY mn1 and then it was 8?0 22pn, all
agree that it becomes a 75nn,'® why does N0 need to say,"’ X227 vnwn RO
"p1, even if it was wIpP1 but since they burnt this wApI1w MW in a 71 where it
obviously dissolved into a liquid, in which case all agree that once it is a liquid it
becomes a ]Wim?!lg

16 See footnote # 8.
17 See footnote # 15.
18 See 1 ?"0 n1p "o 1"MIR 072K 1A% and TTY Mn.
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